60

21 REENFBLER

811 %

EEF R B Bz
E 40
55 8 124 | 1
= M8 18] 2
= 1B B8 110 | 3
s F 8 108 | 4
BE A 8 98| 5
= 8 B 3.7 | 32
g E R 21 | 43
B ER 1.7 | 44
rEENE 09 | 45
N R & 0.6 | 46
E R 04 | 47

811 %

m B B Bz
il & 8 232 | 1
EEREE2LE) 208 | 2
S P m 148 | 3
N 1P 8] 114 | 4
Z % 114 | 5
X # B 107 | 6
f© dt & 102 | 7
s E ™ 90| 8
=] 82| 9
BE B ™ 8.0 | 10
fc E O 74 | 11
T o & 72| 12
E =0 6.8 | 13
BE B 6.4 | 14
B %0 @ 6.0 | 15
PE®M 6.0 | 16
m R ™ 41 | 17
g2 W™ 31|18
&% E ™ 30| 19
2 m 28| 20
P BMH 27| 21
B ok ™ 25| 22
Im o H 25 | 23
VARG i 23 | 24
=8 H 20 | 25
mBmmH 14 | 26
TFE 8 H 12 | 27
8 8 8 1.0 | 28
JIl # 8 0.8 | 29

(&)

RHEmtRIESHAE]

(FH7E]

O F1REXMFELE

[BS47: %]
(k) (X7
Moo ~
8.0 ~ 100
60 ~ 80
W0 ~ 60
20 ~ 40
[ | ~ 20
) (4 : 06)
(L) (R
Mioo ~
8.0 ~ 100
60 ~ 80
W0 ~ 60
20 ~ 40
[ | ~ 20

PR2TED=8RBDFE 1 REXZMFEELLEREI 7% T,
I E32f1 &> TNET,

BRTIE, EhEE., EEREZ2EN20%M Eca<, I8, 88
., RETFOEHHIF2%UTFEELE>TNET,

=EIR

FIREXRUEEY - EURBR(HETRROERIMEEZERR X100



	本文

